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Instructions for Question Nos. 22 to 26:

Read the following passage carefully and answer
the following questions that follow:

Bees play a crucial role in ecosystems by pollinating
plants. As bees visit flowers to collect nectar, they
transfer pollen from one flower to another, facilitating
plant reproduction. This process is essential for the
production of fruits, seeds, and vegetables, and it
supports biodiversity by helping various plant species
thrive.

However, bee populations are declining due to factors
such as habitat loss, pesticide use, and climate change.
This decline poses a threat to the plants that rely on
bees for pollination and can lead to reduced crop
yields and loss of biodiversity. Conservation efforts
are needed to protect bee habitats, reduce pesticide
use, and support sustainable farming practices.
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Efforts to support bees include planting bee-friendly
flowers, creating habitats like wildflower meadows,
and avoiding harmful chemicals. By taking these
actions, individuals and communities can help ensure
the continued health of bee populations and the
ecosystems they support.

What is the main function of bees as described
in the passage?
(a) Producing honey
(b) Pollinating plants
(c) Controlling pests
(d) Enhancing soil quality
Ans: (b)
The passage highlights that bees play a crucial

role in ecosystems by pollinating plants. The
main function described is (b) Pollinating plants.

What are some of the factors contributing to
the decline in bee populations?

(a) Increased rainfall and soil fertility

(b) Habitat loss, pesticide use, and climate
change

(c) The growth of urban areas and pollution

(d) Expansion of bee populations and

conservation measures

Ans: (b)

The passage mentions that bee populations are
declining due to habitat loss, pesticide use, and
climate change. Therefore, the correct answer
is (b) Habitat loss, pesticide use, and climate
change.

How does the decline in bee populations affect

plant life and agriculture?

(a) It leads to an increase in plant diversity
and crop yields

(b) It has no significant effect on plant life or
agriculture

(c) It reduces crop yields and threatens plant
biodiversity

(d) It improves soil quality and plant
reproduction

Ans: ()

The passage states that the decline in bee
populations threatens plants that rely on bees for
pollination, which can lead to reduced crop yields
and loss of biodiversity. The correct answer

25.

25.

26.

26.

27.

27.

28.

(4-A)

is (c) It reduces crop yields and threatens plant
biodiversity.

Whichofthe followingactionsisrecommended
to support bee populations?
(a) Increasing pesticide use
(b) Planting bee-friendly flowers and
creating habitats
(c) Expanding urban areas
(d) Using more chemical fertilizers
Ans: (b)
The passage recommends actions such as

planting bee-friendly flowers, creating habitats
like wildflower meadows, and avoiding harmful
chemicals to support bee populations. Therefore,
the correct answer is (b) Planting bee-friendly
flowers and creating habitats

According to the passage, what is one possible

consequence of not addressing the decline in

bee populations?

(a) Increased crop yields

(b) Enhanced biodiversity

(c) Reduced crop vyields and loss of
biodiversity

(d) Improved plant reproduction

Ans: (c)

The passage indicates that not addressing the
decline in bee populations could lead to reduced
crop yields and loss of biodiversity. Hence, the
correct answer is (c) Reduced crop yields and
loss of biodiversity.

Fill in the blank with the appropriate word
given below-

Last year there was a .................. flood

(a) Salubrious

(b) Ameliorative

(c) Devastating

(d) Savage

Ans: (c)
Devastating: Highly Destructive or damaging.

Select the correct indirect speech of the given

sentence —

He exclaimed, "What a beautiful sunset!"

(a) He exclaimed that it was a beautiful
sunset.

(b) He exclaimed it was a beautiful sunset.
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(c) He was surprised that it was a beautiful
sunset.
(d) He exclaimed it to be a beautiful sunset.

. Ans: (a)

Choose the correct word which is opposite in
meaning of the given word.

Despair

(a) Hope

(b) Clumsy

(¢) Kind

(d) Sturdy

. Ans: (a)
Despair: Utter loss of Hope

30. Find out the misspelt word-
(a) Accommodate
(b) Calendar
(c) Colleague
(d) Concensus
30. Ans: (d)
Consensus
31. Which of the following sentences is correctly
punctuated?
I.  The weather was perfect: sunny, warm,
and clear.
II.  It's raining outside: therefore, we should
stay indoors.
(a) Tonly
(b) M only
(c) BothIandII
(d) Neither I nor II
31. Ans: (a)

32.
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21 gstatement should be - It’s raining outside;
therefore, we should stay indoors.

Which of the following sentences best

illustrates the phrase "nipped in the bud"?

(a) The manager noticed a minor issue with
the project and decided to nipped it in
the bud before it escalated into a larger

problem.

(b) They were excited about their new startup
idea and nipped it in the bud by investing
heavily from the start.

(¢) She found a beautiful garden and nipped

it in the bud by planting new flowers.

32.
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(5-A)

(d) The team celebrated their success, and
nipped it in the bud by organizing a grand
party.

Ans: (a)

The manager noticed a minor issue with the
project and decided to nipped it in the bud
before it escalated into a larger problem.

Nipped in the bud: To stop something at an
early stage.

Consider the following statements and choose
the correct option —
The hyphen is used —
I.  Join words in a compound adjective
II.  Clarify meaning in a list
(a) Onlyl
(b) OnlyII
(c) BothlandlII
(d) Neither I nor II
Ans: (a)

The hyphen is used to join words in compound
adjectives and to separate items or numbers in
certain contexts

Despite her effort to sing the high note, all that
came out was a whine.
(a) Melodious
(b) Lively
(c) Discordant
(d) Harmonious
Ans: (c)

Discordant: A “discordant whine” conveys
a jarring or unpleasant sound, which fits the
description of something that didn’t come out
well.

T HEAd 2 13 1 4 % U | | HH el
AR Te@ B GEA T AN A G SN 27
F AN ® S 2| Tad SIS @A J1d FIAT
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(d) 42
3Y: (b)

e cfifse wemst & ot 9 STuE
(Common ratio) ‘x’ €, @ Teell &M = 2x,
T HwEed = 3x, dEd "wed = 4x
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g9 g3l & = 1 — 1/3=2/3

15 =atwal &1 1 fg3 &1 & = 15/90
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T IR ot faafa T R w2, safe @
fafvea frswd 781 feperar 21

Afg 1 SHeRT, 2006 1 FEER on; a2 SHe,
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(a) Ygem

(b) FHAR

(c) wHaR

(d) HITER
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(b) 12M14
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(d) 18R20

ST (d)

3D5= CDE, 12M14 = LMN,

20022 = TUV, 18R20 = RRT

el w1 9% WHeed MU, S e
(8, 64, 46) T TTEIT HIA Bl-

(a) (6,36, 64)

(b) (7,49, 94)

(c) (11,121, 88)

(d) (9,81,99)

3T (b)

T & el wem w1 it @ SR dted
e ad gem & fagda 2

T el el &1 qER d@et wEdl ©,
"l SR o, W UE g qE @1 lfehd
39 At &1 foar W faar &1 @ 21" W o
fe@ w1 =t &b 2?2

(a) 9 EH ®1 G

(b) & ARH @=F

(c) 39 3t & fuyar

(d) 39 T_HT &1 WE

3L (a)

39 AT 1 g

T SIS 1 HeTqH THGEdS 19 € Ul S
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A qEIEE ® 3T} PEGE 16 3R 17
g1 <A weme | 9 9<t wem

(a) 226

(b) 283

(c) 323

(d) 354

31T (¢)

FEd 19 x 16 3R 19 x 17 2
3d: 9] W& = 19 x 17 = 323
frfafad & ® T8 famed 9T

Queue : ? :: Query : Question

(a) Surprise

(b) Line

(c) Competition

(d) Quiz

37 (b)

Queue (FAR) T THU 31f TI_H () Il
g, 3 Query (F) &1 THU 1Y Question
(W) e B

125 HiX &t TH w3 feem H o5
feel/de =t 7fd ¥ 9@ ® TF Afw & 15
Yhe d R Hdr @, form fen & et s
W@l B TermEl & @

(a) 32 fwdl/=a

(b) 36 fwHl/=a

(c) 35 fwdl/=a

(d) 40 fwHi=Ea

3T (¢)

T % A el w1

= 125/15 Heygse = 30 fwdl/sel

A Yermel 1 fa x feH/E R

37d: |WUE A = (x - 5)

x—5 =130

= x = 35 f&H/=a

g T a1 AaE 20% ST Y AR =g
10% &H HT I SMC, @ &F%a § ghaed
qfterdd 1 it
(@) 6% <hi HH
(b) 6% F g5
(c) 8% @ gfg
(d) 7.2% =t gfg

EXLE ()

67.

67.

68.

68.

69.

(10 - A)

T YR werg, =eE 3R e L, B 3R

A B

T das = 1.2L

T =S = 0.9B

T &A% = 1.2L x 0.9B=1.08 LB

gfaerd af@ds = (1.08 LB — LB) /LB x 100

=8% @I Ifg

7Y iR Afgen 3@ E-

(a) TOMHE S

(b) HETHE B

(©) (a) 3R (b) =HT

(d) =9 9 ®E &

ST (a)

e 221 aUiTCH SR Svfieg e 1 98

39 e, fagioareti iR ol & 9 o SRR

Yo el ©, T Heaens &9 9 & °9rdn S

el 21 98 “fh® @& %1 (Whatkind),” “fg

Y&R &1 (What type),” a1 “fh® 9o (Which

Category)” & dR ® HaTall & MA@ <l 2l

TR 22 & foru frefafad § 9 wiE-w

g faeifia feran S wehar 272

(a) WA

(b) wferR

(c) wRaH

(d) 3 |t

I (d)

arETcHs g2l & foru, fyifa fee sn g+ ara

IUEl o e ©:

° Teg (Mean): 9ft 221 fogefi &l Sea
R 2o fegeti =+ wen 9 fawfea o
T R T i ge)

o TuiftgeRt (Median): ¥&T &I HHIS
T 0 e WM Ak g " sl
(Observations) =1 &A1 TH €, dl A&kl
T T HEAel & e 2

o W(Mode):ﬂ%m,ﬁ@‘a@?ﬁ
Fod 3ffyer aR fe@r a2

3 TR, TE I 7 (d)

feweium @ <giar 272

(a) T =R F AT Gy

(b) THd =X T I forawor




69.

70.

70.

71.

71.

72.

72.
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NEXT IAS

(c) A A & o9 Geday

(d) 2B ¥ H A @1 eTud

I (b)

Tohdl =X ] g ferawo

20 &Y TH ©d &l Heg 15 57 § & g
g Ak B & ke 10 T F wA T, @
forae erfafes gew @ =im?

(a) 10

(b) 30

(c) 25

@ 12

3L (a)

et & e &9 & T 2, safan gen @t
e 9 Wil Ad: kA a4

AT 20 x 15=xx 10

= x =30 q&ul &1 A@EvIhdr gril falw
3TMEva® qEdl & F& = 30 — 20 = 10 T

€ e THAYE 9, e 9 fae @
(a) 9:37

(b) 13:53

(c) 17:71

(d 21:85

3L (¢)

(FgeTl Fa x 4) + 1 = THU T
9x4+1=37,

13 x4 +1 =53,

21 x4+ 1=85,

17x4+1=69.

Ia: (c) fo= B

feu MU fowedl ¥ @ dafuq @ (Related
number) <1 =T EQISLES
6:210::9:7?

(a) 620

(b) 546

(c) 720

(d) 672

3L (¢)

@

Tedl da: (g8l deX)3 - ggall Aal

73.

73.

74.

74.

75.

75.

76.

(11 -A)

:6° -6 =6 :210

I YRR, 9 1 9° —9 =9 : 720
frfafed veal &l erefqul (Wef®w) %A H
FafEerd hifag:

1. =™

2. Af9key

3. i

4. fwaremm

5. qter

(a) 1,3,2,4,5

(b) 2,1,3,4,5

(c) 1,3,2,4,5,

d 1,2,3,4,5

3T (d)

®H - THE - AfYEked —» EiHfd —
fopama=m — wHten

g A:B=6:7 I B:C=5:4 %, d
A:B:C Jd Hifag:

(a) 28:30:35

(b) 35:30:28

(¢c) 30:35:28

(d) 30:28:35

EXL ()

A/B=6/7T=A=6B/7

B/C= 5/4 = C=4B/5
A:B:C=6B/7:B:4B/5=30:35:28
Ife <feror-ufeem oo 71 S €, S-qd ufeem
B Wl € IR el WeR ot Wt ern €, @
ufy=sm = & Srem?

(a) =feror-ufy=m

(b) =faror-get

€ T

(d) IR

3 (b)

arETerd (Anticlock wise) 135° feIft HuiA|
a7q: ‘afv=m’ fu-gd B S

U U T A H W WEA T hIfeC:
1,2,2,4,5,20,2,5,15

(@ 3

(b 5
() 4
() 2

3Ad:, 6




76.

71.

77.

78.

78.

79.
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NEXT IAS

3L (a) 79.
I3 x 2nd = 314, 410 x 5 = Gh 7t x g = Qo
3, 3 x 5 = 15

firn wUa FT AT §; FEA SUF F 98T O
?ﬂmaﬁwﬁm%lﬁmwaﬁ@waﬁu
?

(a) <& A

(b) i

(c) =i

(d) =& ot @

ST (a)

i e 1 | B

el S9F FI 98T 2

e S 1 T R

3Td:, ST ShIAe w1 ST A wdrSl 7 SR

iy < 1 T | R

gae-gayE H 2gRfesm  (Heuristics)

ST HH H S AH Tg © -

(a) o THIM W& GHHH TS Hd &

(b) o ghfrea #xd & fF gmem St faa
ST, ot & 9% T 7 @

(c) o UNREH &t gor o oifuss Sfed =
2

(d) 3% ¥Fen & ar # Tt @ 99 &
AT Tl Bl B

I (b)

3 giifeed w@ ¥ fF wmeE ek fre wg, o0

7ol & 98 T=ad A gl

9 Fod KU T €, T H FHUA (A) 3R

TH H HROT (R) FaT T 7~

I (A): fom guR o w Hfigel e

(Friendly Tone) <T@ T@-1 AR Teiehl & THa

% faw weien (Appreciation) fe@m wnfiet 21

THIOT (R): e 90 foy iR S g

& FOAR # AR v SR e & a

T fherdt 2

F= fau T H2 F TE T TE W ghe-

(a) ¥ SN HROT <A TS B 3R R,
HU I WE AE B

(b) HUA IR HRO I TEl B, AfhT HR
HU I WEl A T 2

(c) ¥ HEl B, Wik Hror W&l Tl 2

(d) oA TE A 7, A FROT T 2

80.
81.

(12 -A)

3T (a)
oA 3K wmRur I W 3 @,
HYT H TE TS ¢

FUT: I8 el ©, Fifh fay §ER & fou
aEdd H TE HAQUl ofeen S T@El SR
Tofehl & fau wwrmn fe@rm smavas 21 T
ol el Th HhrIeHs TRl a1 | Heg
FIl € 3R <R & WU JSd F agEn <l
21 <Nfhl % wwE & forg weren femm g o
AN OF | 3T YA 6l A=A ol §, S I
affeeh Teuiiel iR =% &1 Wehel @1

wAUT: gE ot wd ?, F|ifE faw e
GEESEe e 9 R W qaiue oiR et
%9 & Hehd | &9 G=RE (Communicators)
qEESHE X fammeiia gid €, @ 9 froum
T ¥ TSR Td L hl SAeF TS
wd 2 78 gfeskin ghafvea & © fr asft
gftewivl w fouer w1 9 fa=m fHen s @
R I8 FOR AfRTd qaiel 4 g B €,
S "W i fashd T ghd B

FHU IR FHROT I T T IR iR w9 9
Hoag ¢ foqg it wmmesEs e (HET)
qad W oed 3R HHWIHE o HESHE
sidafshan (Interaction) = wH A AR
AT & 91 fa g HuR () w1 guEsierd
H1 T 2l

fra e 2, ‘Favfa o1 S = stfuss Henfem
fomedl § ¥ H{D AHEKSl & SMER W =T
HET B2

(a) WSt R H

(b) T IR 3 'eHA

(c) oF= =d

(d) THfT Feer

ST (a)

HUA: Ui TuR o e 1 Sqgn fag
TSRS AT YRS W 9 39 & g fman s
Gehall Bl

T fRorfd & STuR T HEHl i yated e

I FaEd H A Ed @ (Dramatic Flair to

Conversations) @& faT ars i gHMEIfS

o < wehar 2

(a) FUA AR HROT A TE F RN HE,
FUT H L AR 2




81.

82.

82.

83.

83.
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NEXT IAS

(b) A R HROT SHI WE B, Wk SR,
FUT H HE oA Tl B

(c) ¥ HEl B, wfehd Hror W&l Tl 2

(d) weE T T 7, Afeh Hror @@l @)

3T (a)

w3 HRUT e WE E SR =,

HIT H WG =TS &)

frefafad & @ ®iA-91 ToHifae 7a9g

Teh G HRO 2

(a) TSHifd e @R g o gfs

(b) TSHIfaH TER & TER Gueh § T

(c) TR forieht TsHifaes a1 A oy, s
HiofET e H gAR 39§

(d) 9@ & W 9 qoHifae e & o=
HeHfd

3L (¢)

e el qolfash gEAT A e, i

HiSEl qrEE A 9 2

TorHifash  er@Tfd (Dissonance) s Bl ®,

St frdt oAt 1 His@r TeHifas Ar=ist

a1 gfewon w A TN, SgHd A

gfecshion gR1 gHId <t St € A1 S e

T 2 FE UoHifaek Hed & o faferse

HAMIcHs 3TEd (Cognitive Dissonance)

Th & €, el WeR ot gEe A ey

fodt =t =t foavare gomet o egfasm =

T 47w E

9 HIE Al Ted 9 W@ T WHI &,

Afer gum feafa & om] w2, @ 5@ 39

®9 W SN W R

(a) TEET T

(b) 3THAM! ZftehIvT (Heuristic Approach)

(c) TATHS® d=

(d) STEATES favery

37 (b)

3@1‘& ?{ﬁET:Iﬁ'UT (Heuristic Approach)

AT gfteepton &1 dred T8 W wHE
gaEs T e & fau fUsd eyer
% SMYR W AN ikl a1 WHTda o
ST w1 | TE IR0 SFRER TG MY
i, widere = wm= feen-fAden &t @

84.

85.

85.

86.

(13 -A)

#H % aR | gl ®, S adAE ge @ e
& forg fuselt feafaal & wm =0 9% €

Ifg g =aft Ygifas fagial (Theoretical
Principles) W MR ®© & a9 fodlt wwe=n
F TA HH & faw gl Sﬁ'{‘aﬁ' (Trial and
Error)aﬂmmé,ﬁaﬁﬁﬁﬁmﬂ
# @ B

(a) Tgifcer ToE FHIEA

(b) TS (Empirical) 3R

(c) Yoo A

(d) THATA® (Deductive) T

3T (b)

TS T

STYES JAN SAEEI, B1ei-819 (Hands-
on) Tl & HEAH ¥ FHEARS &l TA HH
H1 giwar i Gefdd w8, foad s
e iR Ffe wfga et 21 Fw gfew
gifass =1 orqd fagial & o4, ey @ik
e T IR @

Hleel & FHE-GWHE fagia o siA-o
SR HE B2

(a) Ifgsfiar sifermy

(b) diemor SR 3

(c) &iagfequi (Insightful) sTferTH

(d) eIt Aferry

37 (¢)

Jiagieyut arferm

ACHIT hIEeR 1 THE-THHH fagid qed
w7 9 siagfequl Iferm &1 EuRom &
-l #fga 21 fadfieyol siferm =1 arerd
feam o wHen & qw el gAifed & &
9% TEE Gk G Hl IS SR T
g 9 2| e Hifeh, SU-SL-=R0] GIeehiv]
(step-by-step approaches) =1 ‘Tﬁ?d'UT—aﬁ'{—jﬁ{
fafeat = mem @ dem & fawia @)1 siagfe
e Bl B, WE HiZ oAtk fREl wwen W
TH 91 gfehv W wd €, e doh
T fehera €, S Ugd T Tl ol
eI aral iR wmifeeh W % Hied
¥ TH el g SR g9 % yae 1 auid
FE & fou forg v &1 S foran S 22




86.

87.

87.

88.
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NEXT IAS

(a) STe=Tieh W=

(b) TR = e

(c) SHITeIier HER

(d) HTSHAHE Yo

3L (©)

FTTeTieh e

AR HOR O areqd gu iR guE &
ARE-YEH 9 B, S Su=iieh =ell & s=i
AT ol SR WIS Wqeh! & HiEaH
9 g B

4 Y eFIgEieh GOR deds & fafu=

TEAS hl FHeR wd €, forad 3R fagmand,

Y AR WSS Tagiierdt T gere InthHe

gl

SWWATH®  d%  (Inductive Reasoning) ¥

et giom 9 & g 2

(a) Tt U frsmet o qof ffv=aa

(b) WeA IR Yo & YR R Heqrferd Forean|

(c) difcheh STETIhdl, Sl STMER ¥ 8H W
frend T e 21

(d) STER &1 Far o1 Ffy=a g\

I (b)
[red 3 T & rar ur gurfaa frewd

AMTHATHS doh UQ frod geH e €,

e SR Yferd ded (Observed Pattern) & 311

R R Gofad gid 1 s q% (Deductive

Reasoning) & faudd, =& TTf fafy=aa =t

TRE &l a1 2, dfch T8 g a1 © fw

frepd gferd Ted & SMUR W gwifad 2

frefefed & @ SF-®1 TifiEd &1 gaid

U T B2

(a) HHRLT | ITAN &I 9 Al S He=H
H Th THR

(b) Tt faftte & =1 W =1 fvdl Tmen
I & T % g fested fohw T =i
a1 fen 1 TR wAI

(c) WITEPR HERIUM (Software Versions) ol
Yefd i & faw syam fean S aren
T STH|

(d) froarea o Ffeai i HareH & fou fesmea
R T T X IE|

88.

89.

89.

90.

90.

(14 - A)

3 (b)

frdt fafere & &t w0 =0 fod Tuen ==t
T w & fog fesmza few o =won =n fden
1 Th HH|

Toh THMEH =Ron a1 F=_en 1 ue guienfia
R §, Toren sy feet fafyre & w1
FE A1 el wHen & g9 w & fau e
S ®

-9 | Faicaes feerar i wefies

LN 1 272

(a) TFE a5g & fau =2 SwEmT 1 @A Hi
&7

(b) T axg =+ IT® RIS & I W
ST HH H STHHe

(c) THENST & TRET al® ¥ & L h
EELN

(d) e Toen &I B IU-gEEsT ° aed
EAlIED|

3T (b)

Terdlt ar&q Rt 3Tk URUTeh oh1d o STfaii<r,

SUGNT A W 3rgwedan

‘At feerar’ MRS qatue ot Hefda

HTl €, W Tt =afth i forelt o b1 SvEm

Had SH TWe FH & fau difaa s 7, fom

TE W 3T TRURE &9 § ST fHman s

21 TH TR, EACHE HHCA-HEEE § Al

g el B

5 3T 1 TH GEeE TH YHR FAF 7 R

#E ot ofh TH A B TE foped qEEe S

ST Hehd 272

(a) 100

(b) 120

(c) 110

d) 90

I (b)

q@ee ABCDE & ®9 &1, S&l A, B, C, D
IREF A YR H1 1,3,5, 7 L9 H A
fordlt @ off 90 S geha 21 o7d; g aden!
I GEAT = 5%4%3%2*%] = 120




91.

91.

92.

92.

[A-1-24] 250824

NEXT IAS

TE FE 3:15 9 &1 g9 feEnd g1 = iR
e &1 g2 & " 1 &0 = e?

(a) 7.5 fetit

(b) 6 feift

(c) 2.5 feiit

(d) o feit

3L (a)

3 9t B @I gg 90 feult W grft yaw fiee,
o & gE 0.5 Tell e wmdt Bl 3:15 =
foe &1 ¢ 90 feift W 2 (v fie = 6
feit x 15 = 90 fet)| =2 =1 ¢ 3:00 =«
90 feift @ & BT 15 e o 7.5 feaft Jardt
2 (15 fie > 0.5 fedli/fie = 7.5 feml)1 ==
YR, 3T &= B B0 90 - (90 + 7.5)| =
7.5 feift 21

& T s § fesy ok A % e fifm

AN
N/

(a) 21 Taqs, 7 =t

(b) 18 T, 8 =t

(c) 20 Tys, 8 =t

(d) 22 fays, 7 =t

3L (a)

& T SR B T YHW <YMAT S Hehal B
&

D

3

Ko B E

0 F
/K
7)) 4 G

N

a9 WA a9 BPN, PNE, ABM, EFG,
MLK, GHI, QRO, RSO, STO 2R QTO &,
ofq TR W& 10 2

Y% ] FSH @ 99 IS BPE, TQR, QRS,
RST 3R STQ ¥, 1efq s¥hl T 5 2|

93.

93.

94.

(15 - A)

A et @ 59 s MPO 3R GPO #, 31erfq
T WEA 2 B

TE Wi W &4 39S LPJ, HPJ 3R MPG €,
s1fq ST W 3 B

ARE FH § S Hhad Tk 01 LPH 21
sgfa o Brogel 1 %ot wem
=10+5+2+3+1-=21

ot

Y% < el ¥ o1 @ KJOM 3R JIGQ ®,
olq ! ge 2 2|

@ wewl @ sH a1 ANOM, NFGO 3R
CDEB ¢, 1eifq geh! & 3 2|

IR TR | I had Th o, A QRST
2l

TG FH @ I Had Tk o7, 3efq AFIK B
3Mpfd H o & Ha &
=2+3+1+1=7

9R fowedl & ¥ TH SUGH AHfA w1 TG
HRQ, S epfa Afgr 1 QU L 2

AN |7
_I_

T

AHXIX

(1) (@) 3)

(@ 1
(b) 2
() 3
(d 4

ST (d)

JA& Ufes | 9l odfd H T W InthHa
2 S uget  Mepfadl § g9 el ©
{(6374)17%3 x (625)*'7 x (341°M)1? H THE h
1 872

(@ O

(b) 2

() 3

(d 5




NEXT IAS

94. 337 (a)
(6374)"" | THE 3Thk = (4)7" W THE 3%
= [(42)* x 4] ° THE A®
= (6 x 4) H THE 3h = 4
(625)%7 T 38 31k = (5)° T THE 3k = 5
(341)%" ¥ THE 1% = (1)*' H 3 3 = 1
3MATAH 3k = (4 x 5 x 1) H THE 3k = 0
95. 7 &Sl 3R 6 Higarel % TF ¥ge ¥ W, ui=
AfHal ! Tk Afd o & ferg <A1 < €,
e wfafd ¥ #A-9-%A 3 7T | I8 fohad
Tl 9 far S g 22
(a) 564
(b) 645
(c) 735
(d) 756
95. 3= (d)

TR I (3 YE ¥R 2 "ieand) o (4 &N
AR 1 |fgen) a0 (Hedd 5 W) B Gohd

STEYTH qUehl ol TE
=(C, x°C)+(C,x°C)+(C))

6x5
2%

7xB

=(525+210+21)=756
96. forq gfteshlvl § omyd fagidl &1 @ ®H &
gorg, fafa= gmem &1 9demor s i
?, W& q foh g HOR FuieE 7 e Sme?
(a) TR @
(b) HeheurTH® fawervo
(c) wleror 3R FAfe
(d) TorIfR eI
96. 3T: (¢)
97. GuUR ® orcA-favard 1 wH w1 HQ Haifud
fopen ST @k 82
(a) oI TIhEUN T AT & HH Hh
(b) e Ffdfsman SR Hicdred JSH i
(c) UJH TN i SIeeral i TGTRT
(d) TR GHES I HH B

B TXEKEK
T 3x2x1

J +("C3x5Cy) + ('Cy)

7xB6x5
=525+[—3x2“
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97.

98.

98.

99.

99.

100.

(16 — A)

I (b)
TEATEE Ufaferar 3T Weares uae &leh |

eI idfshan 3R Wicded 9aM il Hur
¥ cA-fovard &t ®Hl Al W HE H GIH
el qliT B S oATHAl Sl HehIeH
YR IehT0T 3R ToTeHsh gee Toerd €, df 3=
AT FER I hl SE a1 & forg gHefq
R Ion e &1 e SWEE et 81 3Ed
ST H-TEH AR e Tagery w1 fwfor
B 7, fred 3 sifae e iR gl Hemew
EEci

- eSS TR =afh i wieds
1 gEal i Ted SR HH @ foau gk
Herdl 272

(a) T HIHU I HH

(b) WiEpfdw AR

(c) YA 3R Yeehicqd HRUMY

(d) TRl SR

EXL ()

Uaiue 3T ydwfcud amumd: 3 Ao
e SAfHTT qaivEl SR e s gsfdd
H B, S AT STEH HUs ® SR T
F B TH WE YOS Higdd AT gl
F A FEH h dldh Hl FATId I Thd
g, foed Terawed U1 B Hehdl ©1 SSEI0
% fou, afe fordt =afth & o9 9 wigds <A
q Ak % Wid TRNeHR qae §, a9
Hied® & Tod i 9 e STTereHeTs

I AHRIHS HE GHd

HE-FWHE |, SHA-| &% 39 Aty w0
U LA B, ST M 1 aR-aR T
o a1 @ 31X aRomEl & sneR W gHEiea
foran S 22

(a) fovcroomTeHs STHYM

(b) vaS= fafy

(c) Torifaer Rt

(d) il yEm

3 (b)

FHE-F FHUT GAGH U w7 TH
TA-gYE W ggREsd &1 ST F=al
foran S 22

(a) o Uw TEY GEuE gHfvEa s €
(b) o THIM Teh IR THH HT Ui L 2l




NEXT IAS

(c) o faega favewor =t stavashar & fam
IS SAERIes S Y W B
(d) ¥ TEIREH & ol § HEeeHd ®9 9
sferer e
100. 37 (¢)

dffess &1 swim wfan fen sm 2,
Hifer o fowga fovewor =1 Sfea oM

[A-1-24] 250824 (17 - A)

H1 AEIIHRA & o gHEE % w@id R
e HYE 1 Al o4 g1 3 fawiy
®7 9 qd ST e ©, o geaH EHIH
AITIF T B © A S e gHEnst 9
fueT e €, Sl fasqa @i sreEsiis a1
HHI-H1e Bl 2




